AR 3

FH2BEE NEAEEXORTTE INERESE
T ri2843A23H
?;**% AL AL AALF EZXDREERUVUSEXE A
) | B | B | FEosnm | 7L | B EEEIESH —_ EREE | &M B =

= (ha) (mS) EHm
b= 2 1 15 IRERER SALEA | 1244 |[FHRELATTH 200 45, 000 (& A4+ BARAEE
b= A 23 1 25 INEREER 5A LA | 12A0F |FHRETFENITHH 80 20,000(fe ~ BASY |[BAERAEE
b= 2 1 35 IRERE R SALEA | 1244 |[FHRELATTH 160 17, 000 (& AR 4% SEMPE L
b= A 23 1 45 INEREER SALA | 12A9F |FHEREATHN 160 17, 000| 2 F 4+ EEMRAERE
b= 2 1 55 IRERER SALEA | 1244 |[FHRELATTH 500 22, 000(& A4+ SEMPE L
b= A 23 1 65 INEREER SALA | 12A9HF |FHERAETHN 500 22, 000|£F 5+ EEMRAERE
28 1 1= IRERAEER 58 LA) 9AGE [BEFEFNIMmH 90 19, 000|468 & 4+ BARFEZESN

Zit 1,690 162, 000
o 1 1 IRERAEERR 5AGE | 1TATA |FEHREIRMIIFRET 181 54,000(= R st
EK 1 2 IRERERE SAFE | 128 LA |[EHREIEERFAHTSH 89 27,000(;& /i 4+

Z&t 270 81,000
= 1 15 IRERERE | ABA [rreor2aa|ERRERNFRNLESH 2 o [FH/INS 159 46, 596 N E &B 4+
F 1 25 INFERABET AR thE] |Tm2om2 Ata|ERRmeams REITHEBEAKS 4 2 Y 1HINEH 51 18, 687|22 @A 4}
5 1 KE=2 INFERERT ABthE] |Tmzoq1 Ava|BERRERTTARRUEAMRS 0 7 EH/NIIIs 571 50, 524| = A4+
F 1 45 INFEABET AR A |TRzo%1 Ana|ERRTEENsN o REFIAEWEARKGE 125 1 HAMS 615 47, 074\ K FE 4+

Zit 1, 396 162, 881
Tt 1 1 IRERER ARTA | NATA [BEHREL DM 19 Y 13/ 149 55, 036|H & &R s+
i 1 2 IRERERE | 4ATE | NATAE |FHRRLCOMH 1.3 20 1 #/hIESH 468 60, 469|H 4 &R 4}
Tt 1 3 IREREERR ARTE | 1TATA |FHREL DM 100 1 UMKNEES 337 32, 149| X 4@ 4%
T4t 1 4 INEREER 4RATE | 1NATA |FHRL DM 7 4 7 L3NS 435 41, 259|781l A4t
T 1 5 IRERERFE | AATA | 1IATH |ERETIBERT22 4 35 2 /B 218 19, 428|{&£ 344

Zit 1,607 208, 341
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ER28EE  NERAEERORIFE INEREERT
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o | ok | 2E | mxosn | 2NTE | wwum EEEHISH T B | wemaE | & B % =
= (ha) (mS) EHm
=/\Ed 1 1 INERERE | 4A%4A | NATH |FHFE+HMAH 4 824 94,934(+%1@ 4+
=/)\Edq 1 2 INERELRT 48ha) | 12ATE |EHRELIAEBELFET 4 813 47,964 |db )1 4%
=)\t 1 1 INERE LT 68 NATH |[EFE+MET 5 66 14, 872|838 4}
e 1,703 157,770
BFAE 1 15 IRERERE | 4A%4G | 11AGE |EFE/\BEHEKELERHKN 621 70, 828|H L4}
EFAE 1 25 IREREERT ABe4E | 1MAHE |EFE/NBER/\EBEELUEF# 576 52, 323| 5. k@ 5t
Z: 1,197 123, 151
=REdREl 1 15 |w#ERzzk E1@) | BT | 128748 |BHEF/NAXRFRNEF#HST 62 15, 236 | H E7 4 5%
=REdeEl 1 15 |w#REZR (F20) | SATAE | 12AT4E |EamBARE s ZEEHSN 480 49, 000|= & 4%
=REdE 1 25 |w#EHEzER (3@ | 5SATA | 12AT4A |EatmEEFETEEFEEHS 135 21, 242|EZ F 4}
=REdeEl 1 35 |m#HAEZRE (4@ | SATA | 128 T4 |BREXINFLALEE K 150 27,196| 8 R ot
=RkEdE 1 45 |wHmEERE FsE) | SATA | 12AT4A |EamFaiRFALEE#®N 300 23, 000| = & 4%
Z: 1,127 141,674
A 1 15 INERA R | bASA | 12 LA |BEFE THESE RAT4HH 201 30, 675|F A 4+
Z: 201 30,675
B 12 | WEAESE | 5ATME | 1 AT [2FRenmmsmsmuEa#HI2C 6 HI L 316 29, 869| K48
=RERE 1 25 INERERIE | SASE | 1 ATH |#FReEmRFIXRBERK05E KK 172 9,136|2R
=kEpE 1 35 INEREER 5AthE | 1 ATH |2FRLAHEREITEK S LM 94 22,403|2H
=RERE 1 45 INFERE R bAdH] 1 B T4 |25 R a0 mert ek REA#31E 8 H/I s 113 13, 215 A X
=kEhEl 1 55 INEREER S5EE | 1 ATAH |SFREIEET/IMAEERHK25U 1 H/MEs 243 34,991|5H
Z: 938 109, 614
B[] 1 15 INEREERT ARehE | 12A %4 |EFERKIALKETS 1, 360 79, 000| &5 4% —&8 8 A THIHIR
Z: 1, 360 79, 000
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o | ok | 2R szoem | ANTE | mxum B EE IS = B | wEmsE | B % =
= (ha) (mS) EHm
=EFmE 1 15 IREREERR AATH | NBTE |[EFERMTIREXATHELERMHES 35 457 55, 000|& /7 iB5t 5
EFmEE 1 25 IREREERT 4ATE | 11ATE |5EFRIEETEILEAFMS63IE25 341 37, 000(fE#44 5
Eit 798 92, 000
=EF 1 15 INEREER ABTA | NATA [EFERBEHMEENEEEAKIIANN 624 49, 208| L B4+
Eit 624 49, 208
EHALE 1 15 INEREER 4 EA) MALE |EREFREHTERZELEESRMR24MKIIN 710 46, 000| EET 4+
FHEAE 1 25 IREREERR 48 tf) 10A T4 |EHESETXRRILER#303HBES 200 12, 500| &ULiA 5+
EHALE 1 35 INEREER 4 EA) BATH |EWERETASLEEMSISHILISN 70 4, 200|#5)1|
FHEAE 1 45 IRERAEER 48 Ef) 2ALf) |EREXRETREEEEAMNI01MBISN 190 42, 000|F B & 4+
E&t 1,170 104, 700
=S 1 15 IRERAEERR ARAT4 | 8 ATH |ERERWMETABRS 53 12, 000| 4 sif: 4}
= 1 25 INEREER ART4E | 12A L4 |FHEE)IGET S 154 33, 000|fL& 4+
=S 1 3= IREREERR ARATE | 12A LA |EEERWETRESN 375 28, 000({lu& 4%
e 1 45 INEREER 48 TH | 12ALE |EREBIWETRESN 400 30, 000| it & 4%
Eit 982 103, 000
KREE 1 15 INEREER AAT4A | 12A LA |FEHEBXEMREA25 562 95, 005| & A4t
KRS 1 25 IREREERFE 4ATA | 12ALH |REARIEMBATRF 404 50, 477|F& B4}
E&t 966 145, 482
] N1 o 1= IREREERR 4ATE | NATH |[ALREEE/NFE{CZH A RIRS 251 22,027(/viR A5
L/ 1 25 INEREER 48 TA | NATA |dLFETHE LN 214 22, 384|F14R L4t
L 1 35 IRERAEER AATA | NATE |[dLREAHRFRZIT SN 41 9, 840|444
E&t 506 54, 251
KAFEE 1 15 IRERAEER AATHA | NATA |REEREKTZ Y HETSH 193 74, 867 |1 fift 4%
E&t 193 74, 867
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RHE HEOBRERUEEE _—
= ML A gepen | ALVTE | mxm EEESH " axs | B =
(%) B | BF B HA [T INEREE *
£ (ha) )| FBA
BE 1 1 uERRRERESRE | AATEA | 11ADE (REHCICIREER 5 280 38, 000(i=5i - ts - 1%
FhE 1 2 ampREREER | 48 TE | 11ADE |IhEREHEARR/NERREAK 5 100 22,000 |sfE - =M@ - =@ - =@ - FE
FAH 1 3 |mRmRmERzER| AATHE | 1N1ADE [WLFRRAENFEREER 600 36, 000(@iR - &42m - E— - E=
A HE 1 1 KempRNEREZR | 68 TA | 11HB4a [MEEXUHHIREXIGEEH® 5 130 43, 000|xes - s
Z: 1,110 139, 000
iR 1 15 IREREERTR 5Atf | 11ATH |MEBRZRHN 160 34, 514 | G4
iR 1 25 IRERERTE 6A%4a | 11ATH |BEEFHRHN 74 15, 963|i5 R 4}
e 234 50,4717
Bl 1 15 INERE LT A T4 | 10A T4 |BAKXKEHIALFERLUEERIEZM 319 45, 700| ARFE. KB |20 (M. RIL5E )
e 319 45,700
ERN 1 15 IRERERE 5Ada | 98 LA |[BRETERE)IIILERHN 150 54, 670 F1 4+
ER 1 15 IRERAEERTR TALE4A | 2RLH |HEHERTHE/ BEEHEHKN 313 79, 742|584 5%
== 463 134,412
1T} 1 1 |IREIAEERE (1) | 5AFE | 10ATE |LBEERLRGABEAFIANEAHI) 190 17,000(FE BN |EFE - 7B
117 1 2 |WEREZRE (2) | SAH4A | 1 ATH |WBRENLMBHBEKFIANEHH 220 59, 000|FH F)IIS |EiE - 2 - BE
=z 410 76, 000
=L 1 15 INEREERT 48 7 B4 |LRRERNRATARE LA LESH 59. 17 23, 056|354t
=L 1 18 INEREER 6 A 1 ATH |WHEESIATESHTRERDEH 517.87 72, 899| KR4+
=L 1 25 INEREERT 6 A 1ATE |UEESEIFHXFERERE éaﬂslil‘ﬁ?f*% 661. 23 81, 997|&E)11 4%
=L 1 35 IREREERT 6 A 1 2 B 6] |ubEs E B ERTRFEET ARSI EGH 318.15 36, 640| &% 4t
Z: 1,556. 42 214,592
B85 1 15 IREREERTR 5ALA | 1ATA |(LREAEBEE/NEEH 113. 41 16, 124|FtiE 54 (B EES)
BB 1 25 INERE LR 5REq | 1MMATA |WEEREEBE/NNEETS 16.79 4, 760|F1:E4 (PUEHS . SIREHS)
Zit 130. 20 20, 884
£ ¥ = Gt 20, 952 2,560, 679
GE) COERIFEODHNRIX. 2RABANDIDTHY ., ARRICEEXITEMT S EL”HYES.




